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1. (xe)=axa-l

2. (sin x) =cos x
3. (cos x) = -sin x

4. (tan x)’:

cos’x
5. (ex)=ex
6. (ax)=ax loga
7. (log x) = i (2 >0)
. (%)
8. {1 = >0
{log flx)} ) (f(x)»>0)

T = THARR ., a>00D2a+#1)
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l. y=2%-3e”~

2. y=logx + x5

3. y=2cos x t 3sin x

4. y=log(sin x) + tan x

i
1. y=(22-3ez)
= (2%) ~(3ex)’

= 2% Jog2 — 3ex

2. y=(logx +x5)’

= (log x) + (a5)
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x
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3. Y= (2cos x + 3sin x)
= 2(cos x)’ + 3(sin x)’

=-2sin x+ 3cos x



4. y={log (sin x) + tan %}

= {log (sin )} + (tan x)

_ (sin x) . 1

sin x cos ? x



